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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.
| >

Answer any 5 questions.

3. All questions are divided into Sections A and B.
Attempt any 5 questions out of 7 questions from
each of the sections. Section A has short answer
questions and each carries 5 marks whereas Section
B contains long answer questions and each carries
10 marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Why does IS ¢
7 urve have a ne at.
diagrammatically. gative slope? Explain
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3. Under what circumstances might the LM curve be
horizontal?
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n the natural rate of unemployment

4. Distinguish betwee
f employment.

and the natural level O
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5. How does collective pargaining affect wage

n? Elaborate.
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6. Explain the impact of decline in consumer spending
on the AD curve.
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7. Whyist
economic analysis?

trade significant for macro
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SECTION - B
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1. How and why do the income and interest sensitivities
of the demand for real balances affect the slope of

the LM curve. Diagrammatically explain.
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2. Elaborate on the short and the long-run impacts of an

open market sale on the interest rate and output.
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3. Suppose you have the following information about a

two-sector close economy :—

C = 2000 + 0.75Y
I'= 1200 -"241
I =0985Y — 151

M/P = 2910
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jon of IS and LM curves and find out

Drive the equat

: i i St.
1

the equ

mm@@wmmaaﬁﬁmw
q e

C = 2000 + 0.75Y
I = 1200 — 24
15 =20.23Y = 151

M/P = 2910
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s by firms determine the real

«price-setting decision :
4. Price-setting o

wage p"aid by firms.” Elaborate it by using a

diagram.

i its
es an increase 1n unemployment benef

. How do
: in the natural rate of

lead to an increase

unemployment?
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6. Explain what will happeh to output and inflation in
both the short and the long-run if the effects of the
tax cuts are stronger on aggregate demand than on

aggregate supply.
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7. “A legal minimum wage may create unemployment”.
Substantiate your answer to accept or refute the

statement by using suitable diagram.
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